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1. Custom Cars purchased some $39,000 of fixed assets two years ago that are 
classified as 5-year MACRS property. The MACRS rates are 20 percent, 32 percent, 
19.2 percent, 11.52 percent, 11.52 percent, and 5.76 percent for Years 1 to 6, 
respectively. The tax rate is 34 percent. If the assets are sold today for $19,000, what 
will be the aftertax cash flow from the sale? 

A. $16,358.88 

B. $17,909.09 

C. $18,720.00 

D. $18,904.80 

E. $19,000.00 

2. An investment has an initial cash outflow of $210,000 for fixed assets that will be 
depreciated straight-line to zero over 4 years, which is the life of the project. The 
sales price is set at $19.95 a unit, the annual fixed costs of$237,000, and the variable 
cost per unit is $8.87. The tax rate is 34 percent and the discount rate is 11 percent. 
At what sales quantity per year will the investment break even on an accounting 
basis? 

A 32,088 units 

B. 29,889 units 

C. 24,092 units 

D. 30,135 units 

E. 26,128 units 

3. Suppose that Rearden Metal currently has no debt and has an equity cost of capital 
of 12%. Rearden is considering borrowing funds at a cost of 6% and using these 
funds to repurchase existing shares of stock. Assume perfect capital markets. 

\ If Taggart borrows until they achieved a debt -to-equity ratio of 50%, then Rearden's 
levered cost of equity would be closest to: 

A.10.0% 

B.12.0% 

C.15.0% 



~ .:ft..~* A !f: 109 !f: Jf £ l~ ± !JI~~A !f: ~~ 

i ffl$.m>itl : it i JJ.ti5-½~!f: t ~ ±* , iJi 

~~ft§ ( ~~): Afi5-tfJ£ ( 4903) 

D.16.0% 

E. 17.0% 
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4. The Ritz Company has a 40-year-old employee that will retire at age 60 and live to 
age 75. The firm has promised a retirement income of $20,000 at the end of each 
year following retirement until death. The firm's pension fund is expected to earn 
7 percent annually on its assets and the firm uses 7% to discount pension benefits. 
What is Ritz's annual pension contribution to the nearest dollar for this employee? 
(Assume certainty and end-of-year cash flows.) 

A. $2,756 

B. $3,642 

C. $4,443 

D. $4,967 

E. $5,491 

5. An investor discovers that for a certain group of stocks, large positive price changes 
are always followed by large negative price changes. This finding is a violation of 
the_ form of the efficient market hypothesis. 

A.moderate 

B. semistrong 

C. strong 

D. weak 

E. historical 

6. Consider a one-year, at-the-money call option on Taggart stock. The effect on the 
price of this call option of an increase in the risk-free rate from 4% to 6% is closest 
to: 

I A. $0.50 decrease 

B. $0.50 increase 

C. $0.70 decrease 

D. $0.80 increase 

E. $0.80 decrease 
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The current price of KD Industries stock is $20. In the next year the stock price will 

either go up by 20% or go down by 20%. KD pays no dividends. The one year risk­

free rate is 5% and will remain constant Answer the question 7-10. 

7. The risk neutral probability of an up state for KD Industries is closest to: 

A. 37.5% 

B. 60.0% 

C.40.0% 

D. 62.5% 

E. 70.2% 

8. The risk neutral probability of a down state for KD Industries is closest to: 

A37.5% 

B. 62.5% 

C. 40.0% 

D. 60.0% 

E. 70.0% 

9. Using risk neutral probabilities, the calculated price of a one-year call option on KD 
stock with a strike price of $20 is closest to: 

A $1.45 

B. $2.40 

C. $2.00 

D. $2.15 

E. $3.00 
\ ' 

10. Using risk neutral probabilities, the calculated price of a one-year put option on KD 
stock with a strike price of $20 is closest to: 

A. $2.00 

B. $2.15 

C. $1.45 
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D. $2.40 

E. $2.50 

1. Discuss MM Propositions I and II in a world with taxes. List the basic assumptions, 
results, and intuition of the model. 

2. Assume you are comparing two stocks that are identical in every way except that 
one stock pays dividends and the other does not How would you expect this 
difference to affect the annual performance of the dividend-paying stock as 
compared to the non-dividend-paying stock? 

3. Identify several of the differences between a forward contract and a futures contract. 

4. How do options apply to capital budgeting? Explain and provide an example. 

5. What should be the primary goal of the financial manager of a corporation? Why? 


